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Cinmin=Io*Vout/ (DVin*fsw*Vin)=30*5/(0.24*0.5%12)=104.16uF,I0=30A,DVin=Vinripple=2%*12=240mV
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Lmin=(Vinmax-Vout) *Vout/ (Iout*0.4*Vinmax*fsw)=(12-5)*5/(30*0.4*12*0.5)=0.486uH,L=1.25*0.586=0.61uH

Iripple=(Vinmax-Vout) *Vout/ (L*fsw*Vinmax)=(12-5)*5/(0.68*0.5*%12)=8.58A

Tocp=Vtrip/ (32*Rds) + (Vin-Vout) *Vout/2*L*fsw*Vin=1499/ (32*1.5)+(12-5)*5/(2*0.68*0.5*12) =35.524,
Rtrip=149.9K,Vtrip=Rtrip*10uA=1499mV, Rds=1.5mQ

Cout : ESR<L*fsw/60=0.68%0.5/60=5.67mQ _— DHBIENS
Coutmin=3*DIout/ (DVout*fsw)=3*7.04/(0.165*0.5)=256uF, DVout=5%*Vout=165mV, DIout=Iripple 93_PSV_AUX
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